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Paper 1A/C:  Russia, 1894-1945: Tsardom and communism

Specimen Material Session Time allowed: 1 hour 45 minutes
Materials T
For this paper you must have: For Examiner's Use
¢ You must ensure you have the other optional question paper/answer booklet Question Mark

for the Paper 1 Section B topic you are entered for. o1

You will have 1 hour 45 minutes to complete both papers.
e an Interpretations Booklet (enclosed). 02

03

Instructions 04
e Use black ink or black ball-point pen. 05

Fill in the boxes at the top of this page. ”

[ ]
o Answer all six questions.
e Do all rough work in this book. TOTAL
Cross through any work you do not want to be marked.
¢ You must answer the questions in the spaces provided.
Do not write outside the box around each page or on blank pages.

Information
¢ The maximum mark for this paper is 40.
e The marks for the questions are shown in brackets.

Advice
¢ You are advised to spend 50 minutes on Paper 1 Section A and 50 minutes on Paper 1 Section B.
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Answer all six questions.

Read Interpretations A and B from the Interpretations Booklet.
How does Interpretation B differ from Interpretation A about collectivisation?

Explain your answer using Interpretations A and B.
[4 marks]
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Why might the authors of Interpretations A and B have a different interpretation
about collectivisation?

Explain your answer using Interpretations A and B and your contextual knowledge.
[4 marks]

Turn over »
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Which interpretation do you find more convincing about collectivisation?

Explain your answer using Interpretations A and B and your contextual knowledge.
[8 marks]
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Describe two problems faced by Tsar Nicholas II's government in ruling Russia up to
1905.
[4 marks]
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In what ways were the lives of people in Russia affected by the policies of the
Provisional Government during 19177?

Explain your answer.
[8 marks]
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Which of the following was the more important reason why Lenin was able to
strengthen his rule over Russia:

o the Red Army
e economic policies?

Explain your answer with reference to both reasons.
[12 marks]
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END OF QUESTIONS
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There are no questions printed on this page

DO NOT WRITE/ON THIS PAGE
ANSWER IN THE SPACES PROVIDED

Copyright information

For confidentiality purposes, from the November 2015 examination series, acknowledgements of third party copyright material will be published in a
separate booklet rather than including them on the examination paper or support materials. This booklet is published after each examination series and is
available for free download from www.aqga.org.uk after the live examination series.

Permission to reproduce all copyright material has been applied for. In some cases, efforts to contact copyright-holders may have been unsuccessful and
AQA will be happy to rectify any omissions of acknowledgements. If you have any queries please contact the Copyright Team, AQA, Stag Hill House,

Guildford, GU2 7XJ.

Copyright © 2018 AQA and its licensors. All rights reserved.

12

IB/M/SAM/8145/1A/C





